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AL IEEL LYHA SP ILYIVT AAL s 150mL 5,500 6,050 5,90019 6,49019
AL IEEL LYHA SP LYV SU—h s 125mL 5,500/ 6,050 5,90019 6,49019
AL IEEL £YHA SP ILYIVY Yz s 125mL 5,500/ 6,05019 5,90019 6,49019
AL 7HEL £YHA SP LYYV IuT s 150mL 5,500/ 6,05019 5,90019 6,49019
AL IHEL ¥4 SP VrvbWlN XA0FvT UYbh—=N— Tx— FA FYE Yv7 s 100mL 3,500/ 3,850/ 3,680 4,048
it ¥4 SP IuFq Y-T s 150mL 5,500 6,050 5,900 6,490
BREEA £yHA SP sU—324 V-7 s 125mL 5,500 6,05019 5,90019 6,49019
BEEEAL - <R 2 £¥HA SP Wyl V=7 (Yxv¥a FYE I2I) s 125mL 5,500/ 6,050 5,90019 6,49019
Yk Ly¥4 SP ZUFTzNUrvya 145mL 5,500 6,0504 5,900 6,4901
BRHUR €v¥4 SP S E—Uvs RuF— s 40g 7,500/ 8,250/ 7,90019 8,69019
AL IEEL £YHA AS TLYIVITINY 150mL 7,500/ 8,250/ 8,000/ 8,80019
BREUR £YHA AS RA/OL—RYFvyPa 180g 8,000/ 8,80019 8,60019 9,46019
(%% £¥H#4 AS ¥A420 L= FU—bXVF s 90g 18,000M|  19,80019|  19,000/|  20,900/9
FLi ¥4 AS TNAE 80mL 18,0001 19,800/ 19,000/ 20,900/
7Y —n £rHA AS ZY—bL 40mL 18,000M|  19,800f9|  19,000/| 20,900/
7Y —h LrHFA AS ANIFT4ToY—b [EEBHE] 40mL 20,000/3|  22,000M|  21,000M| 23,1001
AL TFEL LA UTM % sLoovsd A0 150mL 13,000M|  14,300f9|  13,500/| 14,850/
Yk Lr¥4 UTM ¥ 2Y—34 V-7 125mL 15,000/4|  16,500/3|  15,500[| 17,050/
(273 £y¥4 UTM % o—-va> | 125mL 26,00013| 28,600/  27,300/9|  30,03019
(Z% £¥¥4 UTM ¥ o—>a> |l 125mL 26,00019| 28,600/  27,300/9|  30,03019
FLi Zy¥4 UTM ¥ Tw¥ar N 100mL 39,000 42,900/ 41,000/ 45,100/
7Y —n £¥#4 UTM ¥ 2U—4n N 40mL 78,000/9| 85,800/  81,900M9| 90,0909
VAESN L4 UTM % 2U—4n N (L74W) 40mL 70,000/3|  77,000/|  73,500M|  80,850F9
ESal Lr¥4 UTM ¥ averbr—t+ s [EEBAR] 30mL 71,500/  78,650/3| 75,000/ 82,500/
7Y —hR= R £>¥¥4 UTM ¥ <27 75mL 49,000/  53,900M|  51,50019| 56,6501
7Y —briR= R £y¥4 UTM ¥ <227 L7400 75mL 42,000/  46,200/9|  44,000f9| 48,4001

IXFZAN—F PATLX

H SR 200 LrHYA TyeVAFATz—N 40mL 15,000/|  16,500f4|  17,000M| 18,700
H ISR YA TyEYRAFATI—N LTaN 40mL 14,500/|  15,950f9|  16,500M9| 18,1501
F A VRS YA FaFN IveErR 30mL 15,0001 16,500/ 15,800/ 17,3801
Easie Ly¥4 LT72—DRAIvE>¥R 40mL 18,0001 19,800/9(  18,900M| 20,7901
H b & EAW YA FOzAI=vS JU—Z4FAITvErR 20mL 14,0001 15,400/ | 14,700/ 16,170/
7Y —BR= R Ly¥A AVTF—F4vT NUFIRZ 60mL 15,000M|  16,500/9|  17,000H| 18,700
Hy LA B M2 Y — 2 YA F—FNFARY—bXA 20mL, 15mL 19,000/9|  20,900f9|  20,000/9| 22,000/
Hb & ARA Ly A UTLyyys FATvEYA LT4N 20mL 8,000 8,8004 8,500 9,350
BbLHZ Y -2 YA ANFAYvF FAOU—L LT4N 15mL 10,0001 11,000/ | 10,500/ 11,5509
R B2y YA b=FNYyTRY—bAT 15mL 10,0001 11,000/ 10,500/ 11,550/
AT 1 RN LrH4 Fvs FrE FANTF IverR 100mL 10,000/ 11,000/ 10,7009 11,770/
AT 4 TR YA RF4 FARFHITAYVYS TNV ar 200mL 8,500/ 9,350 9,000/ 9,900
NYEZY =4 LYY A AYTFUYTNYETY—L 100mL 8,500/ 9,35019 9,000 9,90019
Easie Ly¥4 CP TZZAFT A¥Fvy7 Iverz s [EEBHAR] 40mL 30,000/ 33,000/ 31,500/ 34,650
HY LMz Y —a 2y¥4 CP TZAFS AvFyyT 74 sU—b s [EERHNR] 15mL 18,50011|  20,350F|  19,5001| 21,4501
v— MRESH~ A2 £y¥4 CP ITZAFS A¥Fv¥7 10 ZTzyY R RyX s 6mL(2HCA) X 10 v k 13,000M|  14,300/|  13,700M|  15,070M
<27 £YHA4 CP TZALS AvF>y7 w27 s [EZHASR] 75mL 26,00013| 28,600/  27,500/9| 30,2509
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ALHET 1 £YHA CP TS5 b=vs AAFyvT R—2 30mL 7,50019 8,250 7,900 8,690
TrVF-vav £¥#4 CP ZY—L Z7¥F—vav CF11 30mL 9,000 9,90019 9,600M|  10,560M
TrvF—vay £>¥#4 CP 2Y—bL Z77¥F—¥a> CF12 30mL 9,000/ 9,90014 9,60019| 10,5601
TrvF—vay £y¥4 CP ZU—L Z77¥F—vay CF13 30mL 9,000/ 9,90019 9,600/| 10,5601
TrVF-—vav £v¥4 CP 2Y—L Z7rvF—vav CF22 30mL 9,000 9,900/ 9,600/| 10,5601
7rvF-—vay £v#4 CP 2Y—L Z7rvF—¥a> CF23 30mL 9,0001 9,900 9,600M| 10,560/
TrvF-—vav £¥H#4 CP 2Y—L Z77vF—¥s3> CF24 30mL 9,000/ 9,90019 9,600/| 10,5601
TrVF-vav £¥#4 CP 2Y—bL Z77¥F—¥a> CF20 30mL 9,000 9,90019 9,600M|  10,560M
TrvF—vav £>¥#4 CP ZY—L Z77¥F—>a> CF21 30mL 9,000/ 9,90014 9,60019| 10,5601
TrvF—vav £¥H#A4 CP r=%N Z4Zy¥a Zr¥F—¥=a> TF11 11g 8,000 8,80019 8,400/ 9,24014
TrVF-—vav Y%A CP +r—%N Z74Zy¥a Z7rvF—a> TF12 11g 8,000/ 8,800/ 8,400/ 9,24019
TrVF-—vav £¥H#A4 CP F—%N Z4=y¥a TrvF—¥=> TF13 11g 8,000/ 8,800 8,400 9,240
7rvF-—vay £y¥4 CP +—%WN Z74Zy¥a Tr¥F—vav TF22 11g 8,000/ 8,800 8,40019 9,24019
7rvF-—vay £YH#A4 CP F—%N Z4Zy¥a Z7rvF—va> TF23 11g 8,000 8,80019 8,400 9,24019
TrYF-—vay £y¥4 CP +r—%N Z4=y¥a ZrvF—a> TF24 11g 8,000 8,80019 8,400/ 9,24014
BLoW Lr¥4 CP FLAL RYF— 8g 8,500 9,350 8,90019 9,79014




